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HE: ALHY F3
el AL B SRS CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A& NSt 21,021,815 19,262,978 1,758,837
= 113,600
Xl 50,000
< 688,535
s 20,169,680
ALy FU 69,084 36,477 32,607
HEHFHARFA 69,084 36,477 32,607
WIS 1,600 1,200 400
201 Let24d] 1,600 1,200 400
01 At 22l 1,600 1,200 400
OBHGEE OISASEI| LAE22
800,000& * 14 800
ONFHLEE S+ 50,0002 * 8OH 400
ogx=s(x27) 2¢ 40,000& = 100H 400
23S MHatze] 36,235 9,235 27,000
201 Let24E] 36,235 9,235 27,000
01 At 22l 36,235 9,235 27,000
O=ZRMe =& & SI+==8 26,235
= 400,000& = 20 X 8,000
-t E S92 300,000& * 50 15,000
-Afd Sl 64,7003 = 502 X 3,235
OZZRMa 2 NE SIHAAAH SMTPY
10,000,000& * 1copy 10,000
EXNEBLHF 13,200 13,700 A 500
202 04l 10,200 10,200 0
01 = LH 4 Hi 10,200 10,200 0
OHLdE HRF=A Kl 10,200, 000& 10,200
203 R =&t 3,000 3,500 A 500
03 A F=XH R =AY 3,000 3,500 A 500
OA&LnNs =& &4l 3,000,000& 3,000
SEANEZE g2 FH 2,000 2,000 0
202 044l 2,000 2,000 0
01 S LHOIYI 2,000 2,000 0
OSEAYIZHE =& 2,000,000& 2,000
CES22 16,049 10,342 5,707
101 @124l 16,049 10,342 5,707
04 JIZHHZ2Z2XNSE = 16,049 10,342 5,707
OEZEESI gREX RY 16,049
-= 60,240% * 1€ = 240 14,458
-AHEE JI2RE3 14,458,000& * 11% 1,591
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AN A4S0
M NYCALHTR
Gl RESEEAY (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NgeALdend 9,454,230 8,398,912 1,055,318
= 80,000
< 100,000
s 9,274,230
T I HAY 2,224,000 2,284,000 A 60,000
=0 EsSNEY 24,000 34,000 210,000
202 44l 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
OE2g: =N 4,000,000& 4,000
401 Al HIZ 201 I 20,000 30,000 A 10,000
01 A& HI 20,000 30,000 A 10,000
Oz 028X EXEd 20,000,000& 20,000
SS-WOor2t 2 ZEALS 200,000 0 200,000
401 Al HIZ 2018 200,000 0 200,000
01 A& HI 198,560 0 198,560
OsS-HoHZE 118)2 2 & ZH L=0.5kn
198,560, 000 198,560
03 AIE =2 THHI 1,440 0 1,440
OsZ8-HoHzZ: 118)d ==& E
200,000,000& * 0.72% 1,440
ME-242F DS T TALS 500,000 500,000 0
401 A& HIZ 201 I 500,000 500,000 0
01 A& HI 496,400 496,400 0
OMEB-8L(Z2E 188)2t 2= ZE 1=0.3km
496,400,000 496,400
03 A& SR THHI 3,600 3,600 0
OANE-ZLH(Z2E 188)2 ZE&E8XH
500,000,000& * 0.72% 3,600
H3-H32t 2SI HAMY 400,000 500,000 A 100,000
401 Al HIZ 201 Y] 400,000 500,000 A 100,000
01 A& HI 397,120 496,400 A 99,280
OUZ-UH=2(2< 1833)2t ==X F 1=0.5km
397,120,000 397,120
03 AlE 2 THHI 2,880 3,600 AT20
OUB-UZ(ZE 135)2 2=
400,000,000& * 0.72% 2,880
Hl &t-H| A2 22T ZALS 500,000 50,000 450,000
401 Al HI K 201 I 500,000 50,000 450,000
01 A& HI 496,400 50,000 446,400
OHlat-HI A (Z & 188)2 2SI E 1=0.8km
496,400,000 496,400
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03 AlE 2 THHI 3,600 0 3,600
Ol &-HIdH (2= 188)2 2 =& F
500,000,000& * 0.72% 3,600
TE-ZEUN ZEEIIMY 100,000 100,000 0
401 Al HI K 201 I 100,000 100,000 0
01 A& Hl 99,100 100,000 A 900
OZXE-ZE(ZE 233)2 2SI E L=1.2kn
99,100,000& 99,100
03 AlE 2 THHI 900 0 900
OZXE-ZE(2L 283)2 2= XLE
100,000,000& * 0.9% 900
LH AF-LH AF2F 2 &2 ZFALS 500,000 0 500,000
401 AIEHI L 20 500,000 0 500,000
01 A& Bl 496,400 0 496,400
OWA-LHA(ZE 198)2 2SI E 1=0.3Km
496,400,000 496,400
03 Al 2 0HHI 3,600 0 3,600
OUA-LIAH(Z S 198)2 2 &8 X E
500,000,000& * 0.72% 3,600
sHEC=SLTLE 4,070,000 4,720,000 A 650,000
sSHEE=201=2EX B4 20,000 50,000 230,000
401 AIEHI L 2 CHYI 20,000 50,000 230,000
01 A& HI 20,000 50,000 230,000
OsHEE=Z DI=2EX EXNE4 20,000,000 20,000
S8 SHEEZZEZZAY 200,000 0 200,000
401 AIEHI L 20HEI 200,000 0 200,000
01 A& tl 198,560 0 198,560
SS-ZH (S 3055)% SOEEZSHEH L
=0.5km 198,560, 000& 198,560
03 Al 2 THHI 1,440 0 1,440
Os8-=d(sk 3058)2 sHEZ2HEZE
200,000,000& * 0.72% 1,440
-2 SHEEZSHEZIZAY 500,000 0 500,000
401 AIEHI L 20 500,000 0 500,000
01 A& HI 496,400 0 496,400
OaM-ZIH(EZ 1043)2 sHEZZERH L
=0.5km 496,400,000 496,400
03 Al S HHI 3,600 0 3,600
OMM-2THPIE 1045)2 SHECRSTLE
3,600,000& 3,600
AE-GIE2 SHEEZEZZAY 300,000 300,000 0




AN A4S0
B YCALSTE
gel: soEEzREEy (el &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T AEHZXEUY 300,000 300,000 0
01 A& HI 297,840 297,840 0
OME-GtE(2lE 2115)2 sHEE2EEE L
=0.6km 297,840,000 297,840
03 AIE 2 THHI 2,160 2,160 0
OdHE-GtE(2lE 2118)2t SHEZZSHELE
300,000,000& * 0.72% 2,160
TH-RAHL sHEEZSHZZAMY 200,000 250,000 A50,000
401 AIEHIZ 28I 200,000 250,000 250,000
A& HI 198,560 248,200 A49,640
OFA-7A(RIZ 21883)2 sHEZZEEH L
=0.5km 198,560, 000& 198,560
03 Al 2 THHI 1,440 1,800 A 360
OZRA-ZA(CIZ 2188)24 SHECZ2SHEE
200,000,000& * 0.72% 1,440
23|-4EY SHEZZHZIAMY 100,000 0 100,000
401 AIEHIZ 28I 100,000 0 100,000
01 A& HI 100,000 0 100,000
23— E2H(2lT 2048)2F sSHESZSHEE
L=0.2km 100,000, 000& 100,000
T8 sHEEZZEZTAY 300,000 0 300,000
401 AIEHI L 2 CHYI 300,000 0 300,000
01 A& HI 297,840 0 297,840
F=S-0t& (2T 2068)2 sHESZEEE L
=0.8km 297,840,000& 297,840
03 Al =2 THHI 2,160 0 2,160
OF=2-0t&(2lk 2058 )2 sHESZSHEE
300,000,000& * 0.72% 2,160
SHE-4E?2t sSHEZZSHIIAY 200,000 500,000 300,000
401 Al B2 28I 200,000 500,000 A 300,000
01 A& HI 198,560 496,400 A 297,840
Ostg-ag (2l 2018)24 sHEZZERZH L
=0.5km 198,560, 000 198,560
03 A& =2 THHI 1,440 3,600 A 2,160
Ootg-&ad (el 2018)2 sHEEEEHEZE
200,000,000& * 0.72% 1,440
PE-2FA SHEEZZEZZTAY 250,000 0 250,000
401 Al& I 28I 250,000 0 250,000
01 A& HI 248,200 0 248,200
OLR-2F(2E 2153)2 sHEZZEHEIH L
=0.5km 248,200,000 248,200
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Eel: sHES=SEE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 AIE 2 0HHI 1,800 0 1,800
OLR-27(2% 2158)2t sHEZZSHELE
250,000,000& * 0.72% 1,800
EH-2EAd sHEEZSHZZAMY 300,000 0 300,000
ANEHI &2 300,000 0 300,000
01 A& Hl 297,840 0 297,840
O848-24d(2lz 2178)24 sHEZZERH L
=0.4km 297,840,000 297,840
03 AlE 2 THHI 2,160 0 2,160
O84-ZH (el 2178)2 sHEZ2HZE
300,000,000& * 0.72% 2,160
BHd-d22 sSHEZZSHELIAS 300,000 200,000 100,000
401 AIEHI L 20 300,000 200,000 100,000
1T AIZHI 297,840 198,560 99,280
OHM-82(HE 1043)2t sHEZZEZH L
=0.8km 297,840,000 297,840
03 Al =20 HI 2,160 1,440 720
OHM-82(HT 10453)2 sSHECZ2SHEE
300,000,000& * 0.72% 2,160
HE2-282 sHEZZEZTAY 500,000 0 500,000
401 AIEHI L 201 500,000 0 500,000
01 A& HI 496,400 0 496,400
O42-2&(2lk 2028)2t sHEEZREEE L
=0.3km 496,400,000 496,400
03 A2 2 THHI 3,600 0 3,600
OdE-2&8(2lk 2025)2t sHECZSHEE
500,000,000& * 0.72% 3,600
HE-U0tY sHEZZSHIIHAY 300,000 0 300,000
401 AIEHI L 20 300,000 0 300,000
01 A& HI 300,000 0 300,000
OUAE-Uok(2lZ 2108)2 sHEEZEEE L
=0.6km 297,840,000& 297,840
OUHE-Uok(2lE 2108)2 sHEEESHEZE
300,000,000& * 0.72% 2,160
P2-PI2 SHEZTZHEZIHAY 400,000 0 400,000
401 A& HIZ 201 I 400,000 0 400,000
01 A& HI 397,120 0 397,120
Y3-d=2(2xE 2118)4 sHEZZEEH L
=1.1km 397,120,000& 397,120
03 AIE S THHI 2,880 0 2,880
OYZ-YZ(2E 2115)2 SHEZ2STE
400,000,000& * 0.72% 2,880
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SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Hot-HAU SHEECZSZIAIY 100,000 20,000 80,000
401 AlEHIZL 201 Y| 100,000 20,000 80,000
01 A& H| 99,100 20,000 79,100
Ogd-Ho(glE 2025)2F sOHEE2EZTHE L
=0.8km 99,100,000 99,100
03 Al 201 Y| 900 0 900
Ogoad-got(g|& 2028 )2t sSHEE 2SR
100,000,000& * 0.9% 900
L2222 SHESZEHIZHANY 100,000 350,000 A 250,000
401 Al HI L 2 0HHI 100,000 350,000 A 250,000
01 Al&H| 99,100 347,480 A\ 248,380
02=Z2-22(2lk 2023)2 sHEZ2E T H L
=0.3km 99,100,000 99,100
03 Al 201 Y| 900 2,520 A 1,620
02LLZ-2Z2(2l& 2028 )2t sSH=EE 2SI X
100,000,000& * 0.9% 900
EEANELAIY 3,160,230 1,394,912 1,765,318
= 80,000
= 100,000
= 2,980,230
Mol =229 216,230 209,720 6,510
201 YEr2 Y| 68,790 59,480 9,310
01 AP 2t 2] H| 20,710 14,700 6,010
OEZEL3 HAT-2 o] 7,010,000 7,010
O=zdl & Holth& E22L2 X 24|
3,000,000& 3,000
ON&E =Y 2dels 40 150,000 = 9JH 1,350
OS&E) Hollth™ X I=H (SHEES
350,000 = 25& 8,750
OEzE+3 ol M 2
50,000& = 12&€ 600
02 B32%H| 48,080 44,780 3,300
OgeE ATZEYON(D-DAS,E2XLU5) DB KA
82 3,300,000& 3,300
OEzE+3 HilA € HEXD MIIe3
200,000 ~ 12€ 2,400
ONEXD &xE22 150,000& * 128 1,800
OkzzelEs WHIl |Xdl 6,000
-0l 2 |X 22 3,000,000& 3,000
-0FI KF 3,000,000& 3,000
OM&EaZ) &5 10,980
-1€ M&EAIZ)
2 x 90 = 204 * 103 2,880




AN HAEnsSH
B YCALSTE
el SREX B LAY (el:de)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
-158& H&E&ZI REN
1,500& = QU4 * 304 =* 203 8,100
O1EEY RKRXbI 13,600
-Z=2| d| 2,000,000& * 2CH 4,000
-2 = 1,600& = 200 = 2504 = 12& 9,600
OHM&Jl ==2ldl 10,000,000& 10,000
206 M = Hl 72,500 82,500 A 10,000
01 = bl 72,500 82,500 A 10,000
O&ditizEs 27 15,000, 000& 15,000
OBAFHUEZEMN S 22X 2
4,000,000& 4,000
OotA®d ZTEE LT 12,000& * 1,000% 12,000
OHMA& &Y g5 Hol 2 1,500,000& 1,500
OMEHM ¢ 40,000
-G s 20,000,000& 20,000
-2 20,000,000& 20,000
307 QI2t01 ™ 1,440 1,440 0
05 It E = 1,440 1,440 0
OMAEEHIXD ROHEHAIAE
120,000& * 128 1,440
401 Al HI L £ 0HHI 64,000 64,000 0
01 A& HI 10,000 10,000 0
OQuWe, XFAX OFEE Uol4& S H=&Hl
10,000, 000& 10,000
03 AlE 201l 54,000 54,000 0
OME &« Mol HHl LX=(15E)
600,000 = 9CH = 53] 27,000
OME L THoi Zdl xS (24H01)
00,000& * QUi * 53] 27,000
405 XHo&HF S HI 9,500 2,300 7,200
01 AL 2B F SHI 9,500 2,300 7,200
ou=2 2 500,000& =+ 3CH 1,500
Odzxlg ¢ 500,000& * 2CH 1,000
odrsEze P2 500,000& = 2CH 1,000
OzEs+g2 23y 2E37Y 3,000
—-Egt A 500,000& = 3CH 1,500
-dlgI Aol & 500,000& =+ 3CH 1,500
OEZEXZ HilA SERA(WHerd])
3,000,000 3,000
T SNEEAY 1,715,000 440,096 1,274,904
401 Al HIL 200 1,715,000 440,096 1,274,904
01 A& HI 1,700,000 430,000 1,270,000
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ozt RNE= 300,000, 000& 300,000
OfOtetE +28 El 50,000,000& 50,000
OzZ& MM (27 =&, L=25km)
100,000, 000& 100,000
Oogel(2&275) T2F X I (L=150m)
150,000, 000& 150,000
O&Hel(2<28s) A= AXI(L=1.5kn)
100,000, 000& 100,000
Ooulael(2=195) S22 ZIH & (L=200m)
200,000,000 200,000
OB M- 20 oI & & X (L=2.5Km)
350,000,000 350,000
Oatd® d™el =2 F bl (L=0.5kn)
250,000,000 250,000
Oatd® A2l & A XI(L=0.5km)
200,000,000 200,000
03 AIE 2 THHI 15,000 10,096 4,904
O=& RANE+ FHIXZE 10,000, 000& 10,000
Oz2& RAE=AY 5,000,000& 5,000
SHEZZ RAEB=AY 666,000 440,096 225,904
401 AIEHI L 20 666,000 440,096 225,904
01 A& tl 650,000 430,000 220,000
OsHEEZ FXNE= 350,000,000 350,000
OsHEEZE UHHEM 50,000, 000& 50,000
Ogg-cE (21£2035 )2 & =4 X (L=0.3km)
100,000, 000& 100,000
OZHU(HZ1035) FAE=+ 100,000,000 100,000
Od&EW(elz20638) AL+ 50,000,000& 50,000
03 A2 S THHI 16,000 10,096 5,904
OsHEEZRANE+=ZH X
10,000, 000& 10,000
OsHEEZ RANE=AMH 6,000,000 6,000
Zoff & St e = 3,000 5,000 A 2,000
305 & =S 3,000 5,000 A 2,000
O1Hia=s 3,000 5,000 A 2,000
otfa=s 3,000,000& 3,000
HeloIEs7ZMa 160,000 100,000 60,000
= 80,000
s 80,000
401 A& HIZ 201 I 160,000 100,000 60,000
= 80,000
s 80,000
01 A& HI 160,000 100,000 60,000
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2 E2RIEAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMUZIHEO0lE Hlol2Es3S LA
80,000,000& 80,000
= 40,000
s 40,000
Os4dxzSsw HElEE7Y HAAY
80,000,000& 80,000
= 40,000
s 40,000
HelolIEs 79 R+ 200,000 200,000 0
401 Al HI K 2018 200,000 200,000 0
01 A& HI 200,000 200,000 0
SR L= (6500 ) 200,000, 000& 200,000
MEA OHEZ FHAMY 200,000 0 200,000
< 100,000
e 100,000
401 A& HIZ 2018 200,000 0 200,000
< 100,000
e 100,000
01 A& HI 200,000 0 200,000
O848 €833 =83l L=0.5km
100,000, 000& 100,000
< 50,000
[ 50,000
OUsH sd= =&l L=0.4km
100,000, 000& 100,000
< 50,000
i 50,000
nsdHE Mo 11,458,757 10,792,110 666,647
= 33,600
Xl 50,000
< 588,535
s 10,786,622
nEEASH 11,446,720 10,779,809 666,911
= 33,600
Xl 50,000
< 588,535
s 10,774,585
ME==Nel FSWNRE=PN 6,850 6,850 0
307 glz2tol & 6,850 6,850 0
02 It M AHE X 6,850 6,850 0
OnsStENT ALY X 6,850,000& 6,850
DAL 2A22E 610,732 556,320 54,412
201 Let24E] 41,166 38,820 2,346
01 At 22l 37,666 35,320 2,346
Ousetd E2= MU 10,000, 000& 10,000
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FAM: A4S
M DsHE A
gel nsEysx eEH)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ONEdsE IHNED 2o &
117,000& * 1984 23,166
OL=Itnet EIIZAM =8 4,500,000& 4,500
02 =224l 3,500 3,500 0
ONgllusSusEANE AL
2,000,000& 2,000
OIE3ItMet JIJISLH (HIIR3 . S8 8)
1,500, 000& 1,500
401 Al B2 28I 569,566 517,500 52,066
01 A& HI 566,000 515,500 50,500
OEgHEE: S35 EXAMY
1,500,000 * 544 81,000
OdlsI EXIAMY 45,000,000& * 102 45,000
OUSHMAIEES HUIAMY(EHEST 48X S)
30,000,000& 30,000
OL®MES H% U H2DHAY
40,000,000& 40,000
OdS=FI| L HASAY 15,000, 000& 15,000
OZES XA 12,000,000& * 2JH A& 24,000
OSEZYE WEANMAE RAEBSAS (NS
o) 150,000, 000& 150,000
OMOIZI 3ZS XA
2,000,000& * 50 £ 10,000
OLFHMOI WAL 5,200,000& = 57| 26,000
OXS=I| BXHEKXE HXAY 56,000,000 56,000
OBtALE A XA 500,000 * 4091 & 20,000
OSad3z)| UMY 8,000,000 * 304 24,000
OZBS(FESRES)AE U LA
2,000,000 * 1090 2 20,000
OANERES(LdsS) BExAd
40,000 = 5004 20,000
Os&EHAsZE EXE &X
500,000& * 100 2 5,000
03 Al 2 THHI 3,566 2,000 1,566
OuStEAIEE &X R0l
566,000,000& * 0.63% 3,566
ANS SRS XA 2te 7,085,000 7,085,000 0
307 glz2+ol & 7,085,000 7,085,000 0
09 2+=HAHEBEXS 7,085,000 7,085,000 0
O2=g8Hd RHEX= 7,085,000
~O 2 (HA EA) 720,000,000& 720,000
SIS (EY,Hg,24) 6,365,000,000& 6,365,000
HALHd EAME 32 20,000 22,000 A 2,000
207 A RO H| 20,000 22,000 A2,000




AN A4S0
My DEHF N
S DSBS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2284 20,000 22,000 A 2,000
OSEHA YME 24 L HXLH 2
d A2 EdY 20,000,000& 20,000
HIed =424 1,417,631 1,378,757 38,874
< 66,226
s 1,351,405
307 glz2tol & 1,417,631 1,378,757 38,874
< 66,226
s 1,351,405
09 2HAHAEXS 1,417,631 1,378,757 38,874
OgIld 4284 1,417,631,000& 1,417,631
< 66,226
[ia 1,351,405
SHEHA SRS 2484 361,300 362,000 A700
307 glz2+0l & 361,300 362,000 A700
09 2+HAHEXS 361,300 362,000 A700
OsZEHA HYdes &84 361,300,000 361,300
ANU(sHE)HA 2SAY MEXH 994,190 741,294 252,896
< 358,362
[ia 635,828
307 21201 A 994,190 741,294 252,896
< 358,362
[ia 635,828
09 2+=HAHEBEXS 994,190 741,294 252,896
OsHEHA 28 HEXA
994,190, 000& 994,190
< 358,362
s 635,828
AUEM BEHA X 120,000 0 120,000
< 9,647
s 110,353
405 TtabF S 120,000 0 120,000
= 9,647
i 110,353
01 AL EFH S 120,000 0 120,000
O2XNEMN 2EHA 2¢ 120,000, 000& 120,000
< 9,647
s 110,353
29 BIS XI& A 320,000 0 320,000
< 96,000
s 224,000
403 XA SA=0l& 320,000 0 320,000
< 96,000
[ia 224,000
02 I 2S0CHet A=A 2 & AL H 320,000 0 320,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZIHAHEAAE(BIS) 2EAY
320,000, 000& 320,000
= 96,000
s 224,000
AEE e FEHHMEX T X 67,200 0 67,200
= 33,600
< 10,080
s 23,520
307 gl2tol & 67,200 0 67,200
= 33,600
< 10,080
[ia 23,520
09 2HAHAEXS 67,200 0 67,200
OAEE g SHAEEX FHIIAE
67,200,000& 67,200
= 33,600
< 10,080
s 23,520
SgussH 29 53,316 49,027 4,289
307 gl2tol & 53,316 49,027 4,289
05 BIZHRI & 3 53,316 49,027 4,289
OSgus=t 2L 53,316
v al:] 50,316,000 50,316
-AEHXH S 3,000,000& 3,000
SIYEA 29 158,000 200,000 A 42,000
Xl 50,000
< 43,000
s 65,000
307 glz2tol & 158,000 200,000 A 42,000
X 50,000
< 43,000
s 65,000
02 It M AHEE 158,000 200,000 A 42,000
OS|YEAl 2SI 158,000, 000& 158,000
Xl 50,000
< 43,000
s 65,000
Al 2HEE2AAY 2= X 8,000 12,000 A 4,000
308 XXIEHHSOIA 8,000 12,000 A 4,000
10 I 2 SOICHetE & & 2 & AL I 8,000 12,000 A 4,000
Al 2HEE2A2AIAE A5 X3 A 8,000
“AIAE R=H| 2,000,000& 2,000
-S2 I &I 4,000,000 4,000
-2dHl 2,000,000& 2,000
Al HEZH =2 XNBMG(EX) 17,400 12,000 5,400
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 5,220
s 12,180
307 glz2tol & 17,400 12,000 5,400
< 5,220
s 12,180
09 2HAHAEXS 17,400 12,000 5,400
OEAIHIEZN =5 XNJAAMY 17,400,000 17,400
< 5,220
s 12,180
BIAl IEZH =22 KA (XAl 12,000 12,000 0
307 21201 A 12,000 12,000 0
09 2+=HAHEBEXS 12,000 12,000 0
QEAISIEZ N =22 XA (XHA)
12,000, 000& 12,000
FYREHS 162,643 115,643 47,000
201 Lt 87,483 84,483 3,000
01 At 22l 12,905 12,905 0
OFEXNYE =l 5,400
-FE 9 BHERSEE S0
300& = 10,00000 = 90% 2,700
-FEI A ¥ g2 dHAHA
300& = 10,00000 = 90% 2,700
OYXIXE Aeit] 70,0003 = 3508 = 90% 2,205
OSYEFEX A 018 =2
80& = 10,000A 800
OS8=3x 828 At
50,000& = 2& * 2000 * 90% 1,800
OFF Xt O =SH(HMFX)
200,000& » 69H 1,200
OFFTCS U DEYLFT 22|
1,500, 000& 1,500
02 =224l 74,578 71,578 3,000
OCCTV eI 2= ¥ &IIe3
120,000& = 128 3604 51,840
OCCTV = X &=t 21,000,000& 21,000
ON&AHE =EAIAE SR 2]
130,000& * 123 1,560
ORHEXNXNSI HIAUsS S5
3,550 = 50CH 178
202 44l 11,160 11,160 0
01 SLHOIYI 11,160 11,160 0
OusddE RF=E Kl 10,160, 000& 10,160
E-AZ g8 g8 dRFA 0yl
1,000,000& 1,000




EX: A4 ns
MM NESHH WA
S DSHYSH CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 64,000 20,000 44,000
01 Al&H| 64,000 20,000 44,000
OFH Xt Jlbet SsHEAY
20,000,000 20,000
OFE XY= It ol A X 40,000,000 40,000
O0l=s4! CCTV LEDM 2T A X 4,000,000 4,000
esEsHASH 32,458 26,918 5,540
201 et d| 17,558 14,318 3,240
01 AR 22l ] 16,838 13,718 3,120
ONSXHEE MA HH
4, 0008 * 85 x 100& * 90% 2,880
OXNSX g2 2= MH 300,000& = 10= 3,000
OXNsSx JEHE XA HE
77,0008 * 102A « 65 * 90% 4,158
OHEIIHEE &L EMNE MHA HH
4,0008 * 8& x 100& * 90% 2,880
OXNHFSEA LBx2H| 1,200
-24(84) 800,000 800
-EA(2") 400,000 400
OXsEs)| ARE F22H|
30,000 * 2004 « 12€ 720
OzAdEy MIAA EEZ2 Ui XMZE
100,000 = 100HA * 18] 1,000
OAEIH FIIHEH O =H|
200,000 = 5™ 1,000
02 232%H| 720 600 120
OXs=)| KAE4H|
30,000 * 2004 « 12€ 720
202 04d| 12,600 12,600 0
01 2L H| 12,600 12,600 0
OXNHESELEF=NNAHYI 12,600,000& 12,600
405 XHo&HF S HI 2,300 0 2,300
01 AL 2 FF S| 2,300 0 2,300
OXNssI 2¢ 2,300,000& 2,300
Nl 2 4= &l =22 12,037 12,301 A\ 264
Hehate| 12,037 12,301 N\ 264
101 Q124 4| 12,037 11,701 336
04 JI2ZtHIZ2Z2NEES 12,037 11,701 336
O A= L 2P0 OHLY 218 12,037
-=20 60,2403 = 1¥ = 180 10,844
-AI3EBE D282 10,844,000 * 11% 1,193
HHSHAY (HEDEY) 39,744 35,479 4,265




AR R~ N =
HH: HH2IAH (AL nSH)
Eel: J=23H(AE2 S (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
JlE2gdu (A& nsi) 39,744 35,479 4,265
Jl=23dHl 39,744 35,479 4,265
201 B2 S 33,144 28,879 4,265
01 At 22l bl 30,040 26,080 3,960
Oget=gH| 6,000,000& 6,000
O3l 8,640,000& 8,640
OSAMII &xt= 200,000& = 2CH = 128 4,800
O&F=J| &gx& 40,0003 = 100 = 128 480
O#gdEH 425 FH| 10,120
-z el 4,400
&Y 440,000& » 10H » 45 = 23 3,520
= 440,000 » 10H * 23 880
-gotTely 200,000 » 1104 = 23 4,400
-SAINEH 2 £8)
200,000& 104 = 32 600
—FAX 120,000& = 204 = 32 720
02 S2=24Hl 3,104 2,799 305
Oy =X E=+Hl 3,104
-CtIIs AR 121 1,300,000& = 2801 * 5% 1,820
TelH 4,000,000 * 12CH = 2% 960
-=ADI 15,000,000 = 100 * 2% 300
—FAX 600,000 * 2CH * 2% 24
202 O Hl 2,400 2,400 0
01 O HI 2,400 2,400 0
OALusY 2= 04l 2,400,000& 2,400
203 2R =AY 3,600 4,200 A 600
04 FAE2EE AL 3,600 4,200 A 600
ORN2ZERFAH 300,000& * 128 3,600
405 At&tE =H| 600 0 600
01 ML ESFHSH 600 0 600
OoS88ET #¢ 600,000 * 14 600




